AW R U

2N R R &

=
i T ¥ &8 | EERESRkuRETE
B i LEETR43E4 & A B
BEENES| % 3 & 5 F 10 Ei| MHBEEE | 2% 3 & 5 H 25 0 108 00 &
s 0% @ 48 R IR
20108000 H 18,280,000 M [Be)
X*L%HD%%%% A F, & =2 (817 P o
(EExE=) ¥ 1 @ B 2 @O % 3 O
(#) dbtEsw 18,180,000
NELTERERE G 18,120,000
gRSTREY (45 18,180,000
FEIHE 18000000  |=H,
VAR () _ 18,230,000
R DR 18,200,000
EE S FETHE (8 F 7 |SEEmeESTEIENT
SR 19800000 M BokiE FEEE GEBOIVT U — MEERET 5056m)
_— Sf0 3F 5 H 31 ahKd| B B |BENOESNPEETERE
' 5 4% 18 25 0FC TENSERU FBASOEETE. MERE IS NESD
EEBE |FEIREBBCANT. BEREICRASN T 2EpngsE
iy s philts
H B
IeE m|® =5 B |
S| B &= = BET
el
BT
=
o
DREES IR BIR FIE (B




B AL g % &
No. 2
SEERg IE BE B
BIEE B2 KR T R S S B = F1 3 T 58 258
=q=c 2 A,
SR 6,479,000
- R = o @ 5 3 O .
=2 osraims 5,890,000 A | fi
== s & B & @ B = & T
1 a9~ R , , AMLEFERS I i
G BkIY  ILmELEF 5500000 | 1 | JEEEemc
> ) 29— 5720000
3 SHEDVHLSY R G 5,650,000
4 G8) VUREOVYIL B 5,650,000
5 ) NJS  ALIRSF 5,800,000
6 () R—TY 5,750,000
-
8
9




AR BT 2 B R R K
5 s 3 T B8 | LRSI0BERTS
1B FI|SEE EIRS ® 8 | s
weBMEE| S0 3 £ 5 B 10 B| ANWGEE | s 3 4 5 A 258 108 00 &
T R MmO AL B BB BB BIEAIRIE
23738000 21,580000 M &
AHEBNIEISES A L & ES (BT 0 F)
(BEXEE) £ 1 © £ 2 @ % 3 @ "
BAESE (50 20920000 @il |
(&) 1=0Y 20,980,000
(B B+EEs 20,980,000
BREER () EEHEN 21,150,000
=OASLIEE () 21,100,000
SOES BAER () B |[ST0E11R10T 315
e 23012000 M ISER L-27936m
g | T 8E 58 31EM5| W B RR W-800m
#5 3% 104 20 BFET
Bomn  ([SEESUESCHNT. RERECENSNT\DEED SRIE UERE
BT e
wml s & 8 anrs
LR =18 37
Ml S ® A BFT
12
iHE
noB
b b
RHERE BRI mie 5%




AR R U 2 #H K5 *E
& 8 4 T s g | gecmemaers
R =T # Bl | st
BEEMEB|] B 3 & 5 B 17 B ANNGES | 95 3 % 5 A 256 108 00 D
= % @ i NEEETE R B RIS
5,480,000 H 5,800,000 & ha !
AR BNEEEE A ) & 2] (BT D -
SRS 2 1 @ £ 2 @ z 3 @
ERERE D 5680000  |BH,
(&) 1=V 5,720,000
() Ht+=E3% 5,700,000
HEGERE (B 5,790,000
HygEhE (5 5,770,000
PE EAEE () B R |HEEmEA 121 0TEE
NG , 6248000 M@ A=+ T 1z
i 1 38 58 31005 B B |KEgT 1%
! =i 3F 8H 31 8FT L |mEmET 1R
ESEN  |SFEIRMERCHNT, BEEBCRHISN TN DESHSETE UIEEd
REREERFIIR
| Bf0 e
D% o e 57 | g
B B0 =2 B EEX6
g as)
BT
=
S
RREES IEIR TSI FlE 55




53 Al

No. 5
_ EREES TE e G5
EZE RIS R PR ERT S 3 & 58 250
EIEE =N )
FIEME 24,167,000 M
47 % 9 ) 3 ] i =
EBS AR 21,970,000 "
- & & BH & 28 NEfiz
e N ]
1 +BSAETEMES 21,570,000 AR
2 EESEETAR (%) 21,600,000
3 () =TI 21,700,000
4 (¥ THHA 21,830,000
5 (5) TiEs 21,800,000
6
7
8




No.

Febth

5

BRI R IEHEST

ELES

LRSS

o A 3 §F 58

ESEP AL

=

iz]
25 H

5%

e

&S

TS

AR B LLBE

12,496,000 H

11,360,000 H

Ed Gl

=

& 8

IE{z

Hp

%

IEH

i
ﬂ%%

i

+ESLEFAEE

11,130,0C0

ERSEIR R

11,000,000




No, 7

o

oKiEHEsRE N ER

=

A

ZiES

e S K

s M 3 & 587

EBEP AR

TE

sl
25 B

B%

i
=E

FEME

AFLEHBIDS

506,000 5

460,000 H

ES =]

=

NE{Ls

=)

Hb
%);]{'

fEf

“HEELERMEE

450,000

EEEETA (D

455,000




No. 8

: SERERE IE Pl G5
E i EREEZTEMAEERE = M 3 E BbE 25B

FEHES BEEmP AR

i 651,640 F
a2z £ 1 @ % 2 O 2 3 B
BS | AN BLBIDE 592,400 F3 |
¥ B 5 &

fm =

i
&

HEfz & B I 1L

&
Uﬂ};]i-

Mgtz

1 RIS 580,000 | 1

2 BRELSETAR (O 586,000




AR R U MK R K
s s[ o T E S | ERCUERENELS 03
e % 8l | &
Ee@NAB] 280 3 7 5 B 17 O] ARESEE | W 3 & 5 E258 1065 00 &
¥ OE OB B NEYEE R BRI
2,541,000 H 2,310,000 A B
AR SNBSS A 5L i 2 (8T M -
GBERER) £ 1 O £ 2 @ £ 3 O =
() SETIH 2,270,000
DIRETE (B 2260000  |EA,
(B RT3 2,270,000
ZWEE THERBIE () & 7 [HEURSE1 TESES
2R 2486000 EHBILE (SA 15
g | P SEH 57 31005 @ B |EET 1%
] S 8% 7 H 30 BIET
BEEd | FEERMEECSNT. ERECREISN T\ SENEED DRT LIEgE
B
| =% BA5
PR m| B 37
M 8 % B BET
26
BB
Wwoos
RE
REERE BRI e (5%




o, 10

Bg #L 5 % 5
RREES s FmiE 58
FEL EEKGK T — SR (R - BEEH) B = M 3 F 58 259
EIES HEsE
5 = 1 O 52 @ =Z 3 @
o ¥ & & B o=
s 2B s £8 & L]
SRE
1 BHENELE - P U T Y R 75790000 |
{(FRaA)




3 . E R &

No. 11
- RRERE EE AR 65
BHS  SEAGPOE NS TSR - RN = f1 3 £ 58 2508
Eitas SRIRS
. £ 1 O B 2 B £ 3 B
i ®* 8 % B =
HIE
1 () BLEEE 3,575,000 3,410,000 3,185,000 (ﬁf\)




B L g =

No. 12
Bl g e = EElE 155
5% HEEHREREY 270 (D50 RiR) HMEsiEA = MW 3 H 5 B 25 H
MSRES RESTE
) = = 3
%zim ” = . £ 1 o = 2 [ S = - =
5
s B & B & kB
‘ . HTE
1 ELiEREE G0 5,830,000 .
: (FBA)




By Al 2 =
No. 13
nEExe IE AR BE
Ee BEEEE (i) BaBISEs S 0 3 £ 57 250
FHES - BEE
sy = 1 @ B 2 @ £ 3 @
£ * 85 B | B =
= =@ & %= = @
1 o FEEEHEIVTILSY R 792,000 (zz




B i 5 % B

No 14 ‘
SRBND TH PHlg &5
PGB MERB S5 —BA 5 M 3 & 5 B 258
MRES REGE
<! 1 [a] ) 2 (5] £ 3 g
=2 2 T 8 - CR
£ % & %8 & %8
e HTE
1 PUN—-PHT I () BRESE 16,500,000
(FA)




e A & %
No 15
spEre  Is R ER
MSE RSB T AMSEA | & 3 & 5 83 2508
neES smat
s 1 @ = 2 g s 3
£Z # =z = - = B =
= = P s &
- 2T
1 P—hYRTA ) BHYE 19360000 ©
DN




- | Ba A,
No. 16

g £ =
DRERE TE  BE S
HEEES  EREES Y2 ERN = M 3 & 5 8 25 6
EEEs SRt
= | . "
%_{E ” = £ ) [} S 2 o = 3 = . =
=
& & £ = & @
1 | P=ryaTA ) =EEs 3300000 | AE
A




